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Question 1
Question Type: MultipleChoice

An engineer is setting up overlapping VPNs to allow VRF ABC and XYZ to communicate with VRF CENTRAL but wants to make sure

that VRF ABC and XYZ cannot communicate. Which configuration accomplishes these objectives?

A)

Image not found or type unknown

B)

Image not found or type unknown

C)

Image not found or type unknown

Options: 



A) Option A

B) Option B

C) Option C

Answer: 
B

Question 2
Question Type: MultipleChoice

Which two uses of the YANG data modeling language are true? (Choose two)

Options: 
A) It can be used to shape slats data of network elements

B) It can be used to access a device by HTTP

C) It can be used to model the configuration used by NETCONF operations

D) It can be used to replace the OSI model for troubleshooting



E) It can be used to replace RESTCONF as a mechanism to install and manipulate configuration

Answer: 
A, B

Question 3
Question Type: MultipleChoice

A customer of an ISP requests support to setup a BGP routing policy. Which BGP attribute should be configured to choose specific BGP

speakers as preferred exit points for the customer AS?

Options: 
A) highest local preference outbound

B) lowest local preference inbound

C) highest local preference inbound

D) lowest multi-exit discriminator



Answer: 
A

Question 4
Question Type: MultipleChoice

A network engineer Is implementing a QoS policy for outbound management traffic classification and marking on a CPE device with

these requirements:

A network engineer Is implementing a QoS policy for outbound management traffic classification and marking on a CPE device with

these requirements

* Management protocols must be marked with DSCP AF class 2 w4h low drop probability.

* Monitoring protocols must be marked with DSCP AF class 1 with low drop probability.

* All remaining traffic must be marked with a DSCP value of 0.

Which configuration must the engineer implement to satisfy the requirements?

A)

Image not found or type unknown



B)

Image not found or type unknown

C)

Image not found or type unknown

D)

Image not found or type unknown

Options: 
A) Option A

B) Option B

C) Option C

D) Option D

https://www.cisco.com/c/en/us/td/docs/switches/datacenter/nexus1000/sw/4_0/qos/configuration/guide/nexus1000v_qos/qos_6dscp_val.pdf



Answer: 
C

Question 5
Question Type: MultipleChoice

Refer to the exhibit.

Image not found or type unknown

An engineer is configuring router R1 for OSPFv3 as shown. Which additional configuration must be performed so that the three active

interfaces on the router will advertise routes and participate in OSPF IPv6 processes?

Options: 
A) from 2.2.2.2, with a TTL of less than 2

B) to 2.2.2.2, with a TTL of less than 253

C) from 2.2.2.2, with a TTL of 253 or more



D) to 2.2.2.2, with a TTL of 2 or more

Answer: 
A

Question 6
Question Type: MultipleChoice

Refer to the exhibit.

Image not found or type unknown

A network operator must configure CSR1 interlaces GigabitEihernet2 and GigabitEthemet to rewrite VLAN tags 12 and 21 for traffic

between R1 and R2 respectively. Which configurator accomplishes this task?

A)

Image not found or type unknown

9B)



Image not found or type unknown

C)

Image not found or type unknown

Options: 
A) Option A

B) Option B

C) Option C

Answer: 
C
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